2-M10X1.5 TAP,DP18

SEP50608 (90POLE)

50

2-M10X1.5 TAP,DP18

(SIDE STOPPER)

(SIDE STOPPER)

l | =
° d
200 340 200 2
5 3- #18DRILL,THRU 28, 342 342 28 4-M12X1.75 TAP,DP22
026 C'BORE,DPZON\ (EYE BOLT)
| |
g [ N e
o ‘ ; ©
o
~ ol e ° ° ° ° ?//
° ° ° ° °
o
®
° ° ° ° °
° ° ° ° °
o o ‘ o (@]
g 18 . * Q| ° ¢ °|O] & &
° ° ° ° °
° ° ° ° °
o
™
° ° ° ° °
oll e ° ° ° &
: $ 2]
— | Te)
ITe) [de)
o
i
POWER CONNECTOR 45 310 30 310 45 90- M8 X1.25 TAP,DP8
(EX.POLE)
740
2-M10X1.5 TAP,DP18
(SIDE STOPPER)
200 340 200
Te]
d © F | Ef
3@0 L @
90 650

15 50 | 2-M10X1.5 TAP,DP18
(SIDE STOPPER)

o

o

o

Al

<

,ea

o

o

L

o *Ekj

™ |

17

15 |

11

Detail A (2:3)

(SIDE SLOT)

SURFACE

FINISH /\/(V)(W)(VW)

APPROVED

mme | SEP5060800-HL _ASS'Y

GENERAL TOLERNCE
(MACHINING)

OVER T0

-6 0.1
6 - 30 0.2

30 - 120 0.3
120 - 315 0.5
315 - 1000 0.8

SUFFIX MARK

SUBJECT

DATE

NAME

CHECKED

1000 - 2000 .2
2000 - 4000 2.0

o | oo | o A | s
HEAT MODEL

LijFﬁ)TNMEESNST HiC  N/A CHECKED NA MAT. N/A scae| 1/5
HEAT

TREATHENT N/A oestenen | HS . CHO "o |SEP5060800-HL |1/1/[=(5)

gwoee | N/A | o | When N/A S A 102X

A2(597x420)

[80] 37 &EH2 IH NFUS AW HOIH, F'YFJYYN N GYUIUY 220) UA S S ZYOI0 AH HJ0| T B2 (YO| &= GHUIY, NYIR SS ZYOtn US » USUHD. 2 =HO| 2 YHY W FE= ARE

SUOR M3NtoIMH M, BHZE, Snt E£= NHEO0Hs AS FHOI sNYUL.




